MPM1D

FINAL EXAM REVIEW – Jan 2019
1) Simplify the following expressions.

a) 3x – 4y + 7x + 2y – 5



b) (2x2 + x – 4) – (4x2 –3x + 1)

c) 3(m2 – 4m) + 2m(m + 2)





10) Simplify the following polynomial, then evaluate for p = -2. 

5p (p2 – 2p + 1) – 6(p3 – 3p + 1) + 2p2(p – 4) 

11) Determine the equations of the following lines. 
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[image: image6.png]



12) Determine the slope of the line passing through the points (-6, 3) and (2, -4). 

13) a) Graph the line 
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 by identifying the slope and y-intercept.
b) Identify 2 more points that lie on the line above.


14) a)  Determine the x and y intercepts of the line 2x – 6y = 12. 

b) Graph the line on the using the x and y intercepts.  

16) a) Determine the slope and y-intercept of the relation 3x – 5y = 12. 


b) Is this line increasing or decreasing? 

17) Write the equation of the following lines using the information provided. 

a. Slope of –2 and y-intercept –5. 

b. Slope of –1/2 passing through the point (-2, 3). 

c. Passing through (-2, -6) and (-3, -4). 

d. Parallel to the line y = 1/4x + 2, and passing through (-8, 1). 

e. Perpendicular to the line y = -1/2x + 7 passing through (3, -11). 

18) Solve the following equations using algebra. 

a) 6x – 1 = -13
b) 10x – 12 = 4x + 6      c) –2(x – 3) = -(x + 5)   d) 
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19) For the following shapes. 
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a) Determine and expression in simplified form, for the perimeter of each shape. 

b) If the perimeters of both shapes are equal, determine the dimensions (length and width of rectangle, side length of triangle) of the shapes. 

20) A group of friends is looking to go Whitewater rafting this summer. Esprit rafting charges $110 per person and a $20 camping fee. OWL rafting charges $100 per person and a $50 camping fee. 

a) Write an equation to represent the cost, C, for n number of friends to go rafting at each company. 

b) Make a table of values for each company. Choose n = 0, 2, 4 and 6. 

c) Graph both of the relations above on the grid below. 

d) If 10 friends decide to go rafting, how much would it cost at each company?

e) If 3 friends go rafting, which company is the cheaper choice?

f) Explain when they should choose Esprit and when they should choose OWL if they wanting to cut costs?

g) If the group decided to go to Esprit and they paid $900, how many people attended?

21) Lindsay is registering for a summer dance program at Pique dance studio. The equation to model the cost is C = 25 + 120n where n is the number of weeks she goes to camp for. 

a) What does the 120 represent? What does the 25 represent? 
b) How much would it cost for Lindsay to go to camp for 6 weeks? 

c) If it costs Lindsay $505, how many weeks did she register for? 
40) Determine the surface area and volume of the following shapes. 
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          a) 
b) 
 


5.7cm
5cm

                                                 4.2cm


      2.3cm
                                                  10cm


4cm


5.4cm


7cm

c) 
d) 


            3.5cm          

                                                                                                             26mm


5.2cm



8mm                  

41) Find the missing side length. 

a) 
b) 


12cm
x
15cm


                  12cm


                 7.2cm
21cm


42) A pyramid has a base area of 85cm2. It has a volume of 1190cm3. Determine the height.

45)  A soccer ball has a surface area of 2500cm2. 

a) Determine the radius of the basketball.

b) How many ml of air would you need to fill soccer ball? (1mL = 1cm3)
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e) ��





ANSWERS


1.a) 10x – 2y – 5	b) –2x2 + 4x – 5 	c) 5m2 – 8m		


10. p3 – 18p2 + 23p – 6	when p = –2, expression = –132


11. a) y = 5/4x – 2		b) y = –3x + 1		12. –7/8	�13. Y-intercept = 7, then rise –4 and run 3 OR rise 4 and run –3. �Other points: (0,7), (3, 3), (–3, 11)�14. X-int (6, 0) y-int (0, –2)	16. 3/5 up and to the right	�17. a) y = –2x + 5		b) y = –1/2x + 2	c) y = –2x – 10     �d) y = 1/4x + 3	 e) y = 2x – 17


18 a) x = –2	b) x = 3	c) x = 11	d) x = –28/9�19. a) 8x – 2 and 3x + 3	b) rectangle 2 x 1, triangle 2	�20 a) C = 110n + 20 and C = 100n + 50	d) $1120 and $1050	e) same price ($350)�f) <3 Esprit, >3 OWL	g) 8 people


21 a) 120 is cost per week, 25 is initial value (registration cost?)	�b) $745	c) 4 weeks


40 a) V = 52.2 cm3, SA = 89.5 cm2	b) V = 140 cm3, SA = 205 cm2	�c) V = 50.0 cm3, SA = 76.4 cm2		d) h = 24.7 cm, V = 1658 cm3, SA = 854.5 cm2�e) V = 17157 mm3, SA = 3217 mm2�41 a) 9.6 cm	b) 17cm	42. h = 42 cm		45. a) 14.1 cm, 11754 mL
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